BEA/DCSF (K& REHR (DM2F7H3H)

s _ s WEA = HETERE N
g - RS WE - #RH (5 B a1l (ke) ¥IE
1 f@HHm AR 6 H18H g 7+ = 60 2%
2 HETHTRE 68 23E e A R 45 =3
3 FEELETETIEAL 6824 F e A R 30 2%
4 BSLMFERTFIARES 6828 E i 7+ = 75 2%
5 /)N E T BRI 6B 17E e 7+ = 25 2%
6 /JVERAR 6B 24E & A4 X 50 =g
7 ETMEEE 6B 18E g A R 60 =g
8 /EMPIE 6 H28H i 74 R 20 =i
9 JNETHHE 6828 E e 7 X 25 2%
10 /JEREA 68 25E e 7+ = 25 2%
11 /JEfmdHF 6828 E e 7 X 35 =3
12 HIRHTHE 6B 18E e A R 15 2%
13 FHPHTH 5 68 25E e A R 30 =3
14 HHWHETHHEEMER 6 H29EF e i 50 =X
15 PEVEZHE=E 63 25H 1 AR 30 et
16 = ERTEEr R 6H11H i A R 30 =3
17 & EHTS3F 6B 12E e 2 40 =3
18 =ikl + 6H11E e X Z 90 ok
19 &S EHET LA 6 A13F Wi ANFA 20 2t
20 = EHET/NFIE 6 16F R 7+ X 30 ok
21 = 77K BA 6H20H HIE X X 70 =i
22 EERT=EE 68 25F g A R 15 =%
23 & ElT/KER 65 18F T #+ =z 15 2
24 = EHETIRA 6 H30E e 7+ X 40 =%

25 A E 6 H22EF e 7+ = 70 k5
26 BET IR 6 B17E e A R 80 2%
27 = EHTITIR 6B 15E e A R 35 2%
28 = EHTHETE 6B 17E e 7 X 30 =%
29 £ RHETHTE 68 19E & A R 30 fo I
30 = EHT A4 6B 21E e A R 80 2%
31 EEHTH M@ 6B 23F e A R 40 =%
32 S EHTITR 68 23E e A R 100 2%




